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AB X5 FS X HI(F)
1 13 =& |[EEBR#EER 5,000
2 13| =& |[KEBREER 5,000
3 11/3) =& |EBHER#ER 5,000
4 1/3| =& |E<BHRHER 5,000
5 11/12|  #B)  |F)—Lh—TzRXT4/\)L 5,000
6 11712 =& |EHFEFIIEREFSEBRS 5,000
7 1115 B i%lg\fgi‘)f;él;ﬁiﬁ%i*&i%ﬂﬂ%%(E%“:L:TA‘FE‘/P/X 10,000
8 11718 =& |BHBEZ2WmiSH3ER 10,000
9 1/19] £& |Z/EBHRERERER 5,000
10 | 11/722] =& |BEFEARZEXHIERRS 5,000
1| 1122l = E;g%%ﬁ&t%#vﬁ—igiﬁx%w%%(?é“lﬁ%ffi)?ﬁ 50,000
12 | 11722 #h | ZXFEESHFERRECHREASLEE (OEF)IBESK) TRERK 30,000
13 | 11/20| mp | RENZEFEREFEART2=T OBHIESE (MEF)IESR) 5,000

mR&RH

145,000




